T
o g
0Kl o
I 4T
TH Do

=4
—_ - _ _
F4| (Push) B2 - El b2, 31T YK
EH 23230.
MNE gY
F4| (Push) EHX = SHEZOILt =8 Mo, 73 =S &1 A6 Xl =™ st= ol Mgstot
LEAF Bl EFlof B BHE 9I%| Bl Satstod ABE 4 ot
PN S|
LAt ™A e
. AL EW B8E] SAx2)
=
. A8, ofed TR
LEAF
. AL EMRE, B HE JUS
nes B
- ofeiCtol HAE, BetAE| TEXE, He
AH
A
=%o|
PN R N C
=TS
o AEL EMRE
ag
Ly
s g
f
-
5| -1 @ = B
Fi
—— ™~
o] |3
b
i
Lo
s - s s, s
— ‘_ 2\
-] [}
S| <k B(] s 4 5| & X
- %
1 <
ag ag2 I3 J24
=2 He
x|4 AE Ws Az B RS
23 i
d, d (i dy | ds de bk bk b kbt rlb|k T WS Ws, F F, | =i
02 P
[mm] [mm] [mm] [N] [°’C] | [d]
FLEAL EFRL - 231
M12x1,5 | 90|21| M4 | M4 |4,3]46019]26/14|115/35] 6| 8 | - [12]25] 6 8 | 19 | 16 35 | 100 | 85| 23230.0510
M16x1,5 | 12,0 21| M5 | M5 |53|56,0|27|34|18|155 /47| 8| 10 | - 14|35 8 | 10 | 24 | 25 71 | 100 | 153 | 23230.0512
M20x1,5 | 14,5 25| M6 | M5 |53|69,5 33|34 18155 /47|10 12 | — [14|35| 10 | 12 | 30 | 40 | 130 | 100 | 213 | 23230.0514
VEAN HESRIY
Ho|x| 1~2] 2

NHALDER

JHAl: 10.8.2024


http://halder.com/kr/23230.0510
http://halder.com/kr/23230.0512
http://halder.com/kr/23230.0514

YUY RE
SH2UL HE
PES AE ws Az B RS
dy d; (d3| dg ds |ds| 14 [l | I3 || Is [Ig]|]7 t r| b| k =3 WS, | WS, | F, F, Z|cH
0,2 1P s

[mm] [mm] [mm] [N] [°C] | [g]
20| WEFHEIQ -7 2
M12x1,5 | 90(21 - | M4 |43/46,0(19(26 14|115(35| 6| - | - [12/25| 6 8 | 19 | 16 35 100 | 85 | 23230.0530
M16x1,5 12021 - | M5 |53/56,0|27|34(18|155 47| 8| - | -|14/35| 8 | 10 | 24 | 25 71 100 | 152 | 23230.0532
M20x1,5 14525 - | M5 |53/ 695|33(34(18(155 4710 - | - |14/35| 10 | 12 | 30 | 40 130 100 | 209 | 23230.0534
ct2E Ell -3 3
M12x1,5 | 90(21 - | M4 |43/46,0(19(26 14|115(35| 6| - |45(12/25| 6 8 | 19 | 16 35 100 | 84 | 23230.0550
M16x1,5 12021 - | M5 |53/560|27(34(18(155 /47| 8| - (6014 /35| 8 | 10 | 24 | 25 71 100 | 155 | 23230.0552
M20x1,5 145/25 - | M5 |53(695|33 |34/ 18|155|47 10| - |[7,2/14/35| 10 | 12 | 30 | 40 130 100 | 213 | 23230.0554
Z7|s Bt - a3l 4
M12x1,5 | 90(21 - | M4 |43/46,0(19(26 14|115(35| 6| - | - [12/25| 6 4 | 19 | 16 35 100 | 84 | 23230.0570
M16x1,5 12021 - | M5 |53/56,0(27(34 18|155(47| 8| - | - |14|35| 8 6 | 24 | 25 71 100 | 152 | 23230.0572
M20x1,5 14525 - | M5 |53/695|33(34/18|155|47(10| - | - |14 /35| 10 8 | 30 | 40 130 100 | 208 | 23230.0574

1 -
JEHA HE SR

g of
—
!’4/ T~ lm
9 Gret &
: @ a%
Lo -
THES
RoHS &4

o HE ZE-oexE 6a/6b/6c EF

0.1% w/w O| 4 &R =l SVHC 22! =&
o ME ZE-2024 68 274 SVHC S5

Al
al

=l

ofx g S|

1l = A4
—— = 1o

Mo

ra
o
T

A 23 g

4>

H2 = EEZ Qe &t M 7Sl HE 71E £ A&t
https://www.P65Warnings.ca.gov/

EYYE ZFsx &S
OlMES BHYE M 3 Ec BAH & UF 385 £= QY ITI0M "EY F2'2 xIYE 22 Z§skx| ef&Lich

HO|x|2~2] 2
EE HALDER JHAl: 10.8.2024


http://halder.com/kr/23230.0530
http://halder.com/kr/23230.0532
http://halder.com/kr/23230.0534
http://halder.com/kr/23230.0550
http://halder.com/kr/23230.0552
http://halder.com/kr/23230.0554
http://halder.com/kr/23230.0570
http://halder.com/kr/23230.0572
http://halder.com/kr/23230.0574

